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Match it:

a) Symplastic pathway - Leaf i

B) Transpiration - Plasmodesmata \
c) Osmosis - Pressure in Xylem '3\\
d) Root pressure - Pressure gradient (

Why are thyroid hormones refered as personality hormone?
Identify the parts A,B,C and D
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What do you understands by the term phenotype and genotype?

3.5 litres of ethanol is present in 15 liters of aqueous solution of ethanol. Calculate
volume precent of ethanol solution.

Answer any 7 Question: Question no:32 Compulsory. 7X4 =28
What is universal law? Write any 2 applications

Differentiate the eye defects: Myopia and Hypermetropia

Calculate the % of each element in calcium carbonate:

( Atomic mass: C-12, 0-16, Ca - 4OJ)

a) Identify the bond between H and F in HF molecule

b) What property forms the basis of identification?

c) How does the property vary in periods and in groups?
a) What is collateral vascular bundle?

. b) Where does the carbon that is used in photosynthesis come from?

c) What is the common step in aerobic and annerobic pathway?
How does locomotion take place in leech?

State whether True or False. If false write the correct statement
a)The phloem is respobnsible for the translocation of food

b) When guard cells lose water the stoma opens

c) What is cohesion?

a) What are the structures involved in the protection of brain?
b) Define reflex arc

What is colostrum? How is milk production hormonally regulated?
The resistance of a wire of length 10 m is 2 ohm. If the area of cross section of the

wire 2x107 m?, determine its (i) resistivity (ii) Conductance.

Answer very briefly: 3X7=21

a) Deduce the equation of a force using Newton's second law of motion (OR)
b) Derive the ideal gas equation.

a) Calcium carbon ate is decomposed on heating in the following reaction.
CaCo, --->€a0 + CO,
i) How many moles of calcium carbomnate are involved in this reaction?
ii) Calculate the gram molecular mass of calcium carbonate involved in this reaction.
iil) How many moles of CO; are there in this equation? (OR)
b) Write notes On various factors affecting solubility.
a) 1) Name the gaseous plant hormone. Describe its three different actions in plants.
i) Which hormone is known as stress horomone in plants? Why ?
i) What is Botting? (OR)
b) What is the structure of DNA organized? What is the biological significance of DNA?
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